

Scanned with CamScanner

9

$$\frac{(1 + \cos(r\alpha))}{r \cos^2 \alpha} \frac{(1 + \cos(\varepsilon\alpha))}{r \cos^2 \varepsilon\alpha} \frac{(1 + \cos(\lambda\alpha))}{r \cos^2 \lambda\alpha} = \frac{1}{\lambda}$$

→ $\cos^2 r\alpha \cdot \cos^2 \varepsilon\alpha \cdot \cos^2 \lambda\alpha = \frac{1}{4\lambda} \rightarrow (\underbrace{\cos \alpha \cos \varepsilon\alpha \cos \lambda\alpha}_{\frac{1}{\lambda}})^2 = \frac{1}{4\lambda}$

$$\underbrace{\sin \alpha \cos \alpha}_{\frac{1}{r} \sin r\alpha} \cos \varepsilon\alpha \cos \lambda\alpha = \frac{1}{\lambda} \sin \alpha$$

$$\underbrace{\frac{1}{r} \sin r\alpha}_{\frac{1}{\lambda} \sin \lambda\alpha} \rightarrow \sin \alpha = \sin \lambda\alpha$$

$$\sin \alpha = \sin \lambda\alpha$$

$$\alpha = rkn + \lambda\alpha$$

$$\cancel{\alpha} = \frac{rkn}{\lambda} \rightarrow \frac{4\pi}{k\lambda r}$$

$$\alpha = rkn - \lambda\alpha$$

$$\alpha = \frac{rkn}{\lambda} \rightarrow \frac{\lambda\pi}{\lambda} \checkmark$$

10

$$\tan(rn) \tan(n) = \frac{1}{\tan(n)} \rightarrow \tan(rn) = \cot(n) = \tan\left(\frac{\pi}{r} - n\right)$$

$$rn = kn + \frac{\pi}{r} - n \rightarrow rn = kn - \frac{\pi}{r} \rightarrow n = \frac{kn}{r} - \frac{\pi}{r}$$

$$\frac{4\pi}{\lambda} = \frac{11\pi}{\lambda} = \frac{12\pi}{\lambda} = \frac{13\pi}{\lambda}$$

$$\checkmark \quad \textcircled{4\pi}$$

$$\cos \alpha = r \cos \frac{\alpha}{r} - 1 \quad (\text{فرمول ضای})$$

$$\Delta \sin^2 n + r \left(r \cos \frac{\alpha}{r} - 1 \right) = -r \rightarrow \Delta \sin^2 n + r \cos \frac{\alpha}{r} - r = -r$$

حاصل جمع دو عدد نامفهوم صفر است پس هر دو صفر بوده اند!

$$\Delta \sin^2 n = 0 \rightarrow \sin n = 0 \rightarrow n = k\pi \xrightarrow{-\pi \leq n \leq \pi} n = \pi, 0, -\pi$$

$$r \cos \frac{\alpha}{r} = 0 \rightarrow \cos \frac{\alpha}{r} = 0 \rightarrow \frac{\alpha}{r} = k\pi + \frac{\pi}{2} \rightarrow \alpha = \frac{r(2k\pi + \pi)}{2}$$

$$\xrightarrow{-\pi \leq \alpha \leq \pi} \alpha = -\pi, -\frac{\pi}{2}, \frac{\pi}{2}, \pi$$

انتخاب دو مجموعه جواب $\{-\pi, \pi\}$ است

$$\cos\left(n + \frac{\pi}{2}\right) = \frac{\sqrt{2}}{2} (\cos n - \sin n) = \frac{\sqrt{2}}{2} \rightarrow \cos n - \sin n = \frac{1}{\sqrt{2}} \quad (5)$$

$$\cos n - \sin n = \frac{\sqrt{2}}{\sqrt{2}} \xrightarrow{\text{بسط}} \frac{\sqrt{4}}{2} \rightarrow \boxed{\cos n - \sin n = \frac{\sqrt{4}}{2}}$$

$$(\cos n - \sin n)^2 = 1 - \sin 2n = \frac{4}{9} \rightarrow \boxed{\sin 2n = \frac{1}{9}}$$

$$m(\cos n - \sin n) - 4\sqrt{4}(\sin 2n) = \sqrt{4} \rightarrow \frac{\sqrt{4}}{2} m - 4\sqrt{4}\left(\frac{1}{9}\right) = \sqrt{4}$$

$$\frac{\sqrt{4}}{2} m - \sqrt{4} = \sqrt{4} \rightarrow \frac{m\sqrt{4}}{2} = 2\sqrt{4} \rightarrow \boxed{m = 4}$$

(7) عبارت $\frac{1}{2}$ ضرب صاف نه.

$$\frac{1}{2} \sin n + \frac{\sqrt{2}}{2} \cos n = \frac{\sqrt{2}}{2}$$

$$\cos 4^\circ \sin n + \sin 4^\circ \cos n = \frac{\sqrt{2}}{2} \rightarrow \sin\left(n + \frac{\pi}{4}\right) = \frac{\sqrt{2}}{2}$$

$$\left\{ n + \frac{\pi}{2} = 2k\pi + \frac{\pi}{2} \rightarrow n = 2k\pi - \frac{\pi}{2} \xrightarrow{-\pi/2 \leq n \leq \pi/2} k=0, 1 \rightarrow n = -\frac{\pi}{2}, \frac{\pi}{2} \right.$$

$$\left\{ n + \frac{\pi}{2} = 2k\pi + \frac{3\pi}{2} \rightarrow n = 2k\pi + \pi \xrightarrow{-\pi/2 \leq n \leq \pi/2} k=0 \rightarrow n = \pi \right.$$

$$S = \frac{2\pi}{2} - \frac{\pi}{2} + \frac{\pi}{2} = \frac{2\pi}{2} = \boxed{\pi}$$

$$\sin\left(\frac{\pi}{2} - n\right) = -\cos n$$

$$\sin\left(\frac{\pi}{2} - n\right) = -\cos n \quad (8)$$

$$4\sin n(-\cos n) = 1 \rightarrow -4(\sin n \cos n) = 1 \rightarrow \sin 2n = -\frac{1}{4}$$

$$2n = 2k\pi - \frac{\pi}{4} \leq 2k\pi + \frac{\pi}{4} \rightarrow n = k\pi - \frac{\pi}{8} \leq k\pi + \frac{\pi}{8}$$

$$\begin{aligned} \xrightarrow{0 \leq n \leq \pi} & \int_1^1 k=0, 1 \rightarrow n = \frac{\pi}{8}, \frac{7\pi}{8} \\ & \int_2^2 k=1, 2 \rightarrow n = \frac{5\pi}{8}, \frac{9\pi}{8} \end{aligned}$$

$$S = \frac{\pi}{8} + \frac{7\pi}{8} + \frac{5\pi}{8} + \frac{9\pi}{8} = \frac{4\pi}{1} = \boxed{4\pi}$$